ER-IERRREE-RR

SHTEs 2B RE
HEXEE EBMESRE

T I T X RBE
Sl — R X8 A
R EEELDHE |BRES
*7 GRKE) |REmEEHEE (20
(TMKRE) |LIEREEHEE (189
: oy |5 BIFREE=7, (W )IFR5=8.5, FAEIIFE=9.3, #X)IIFit=104,
REFEESER g )immss, +RIIFES122, F2F)IF6=18, )1l fisi-0.4
#oK HoE L RIIGRE=(10, 3.1)
REANEKPEHR | _
IC&HE%E
R b 20m/s*?
E- 35 SEHREE o4 20m/s
4 EHE 20m/s
Bt 20m/s*? EFES
RRAE T EER 5\ it 20m/s EEHES
HRE 20m/s EEHES
= = 7y i 1285 IR E DIFES10cm
AE REQRS T 1 2B B E ) E200m
33 = b g 6.0m
R BEES B0 25m
=y SER A HHAiEA 3.5m
=17 EMLL %}:‘é‘{,ﬁﬂ 2 4m
X REWEEHEE |13
TIERSEHEE 109
: oy | E)IFRIE=5.6, ILAIGRE=6.8, FEIIFREE=7.4, #L)I5RIE=8.3,
TISREIEHER o1 ) imm=s, + 21707, T4 Fbi=144, 51775
#oK HoEE SHEIRE=(6, 56), ZLBRJIFRE=(10, 2.4)
BEAIEKTHR |_
IZkBEHE
Bt 10m/s*®
%A ¥ RE siE 10m/s
HHRiE 10m/s
[ 10m/s*° EFHES
RE T RE 5\iE 10m/s EFHES
HRE 10m/s EFHES
= - i 1205 IR E D iES3cm
AE REORS D 2B RBE O FES50m
s e s\ 2.5m
7I?§$E IEZ/E ﬁ%/&’lﬁl ﬁﬂﬁ}ﬁ 1-5m
= Y by L ﬁﬂf‘liﬁﬂﬂ 30m
= lﬁq ;iﬁ{lL %7%15'] 1.9m
ES FEFICFYEENTEINDSE
WME
fE L 100m
- 1RiE st 500m
HHE 500m
EA] OR/NBE45% T, BNEE5% QENEE60%
BEEDFES100cmU LT, ROWThH
R 1 ’,—?‘L;‘Es"Cl:,l_J:o)ll?BE
2 IESEFICLDER
3 BFEDFERI30cmLl L
&8 S FELYTHTRMNICLULENBAIAK . SHIL2AUEHKEFRENSIGE
- L4 BIESEA-3CUT
= 11B30BETHEE. SA15ALKNDKE RIEKIBICLUT
EK-ES EEER-ZHROEHLHT T, XUBN-2°C~2°C [EEI0%LLE

(5o R R0 R P Rl A R TR 2R

1 E#Faﬁl"ﬁ% [110mm

REREEY AEFEEY OBAShEICLIREBEERLTVET,

*2

*3

SEFHMEKIREAFFOBRER. 25m/sZBRET D,
FUEFHNE R RBRFTOERMEIX. 1Tm/sZBRET D,



